8.1 Standard Form of Quadratic Equations
DO NOW Quadratic Equation: Na s a degree of 2 .

1. Name a pair of numbers that multiply out to be zero. L hiﬁ hest exponent-on Hne
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8.2 Sﬂmngmm&wms Examples: Find the roots of the equation.
Product Property of Zero: X2-2%+3x~b =0 5 *LACTOR
£ ab:O]Jrhen a:o} b=0 or . (x+3)(x—2)=0 2. x +4x+4=0
both o =0 and. b=0. &@OK%Q:O (}(4—2)@+2>:O
root: Solution o the equation. This 03 =02 X+2=0) oR 'X+2:ZO
linear = X=0O-
s Must convert quadratic equations egin X=-3 =2 %9(:0_22 )
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